20

H16 H16
H16 H15 11
H16
H18 H19
H20
20

19

692-2
45
45
(e
o)
(e
(e
ha H18 580 H19 648 H20 735
ha H18 707 H19 848 H20 813
ha H18 6804 H19 5613 H20 5246
o ( ) H18 5 H20 3
o () 1917
313,000,000 313,000,000 100
20
H17 H18 H19 H20
2 2 2 2
| 0 0 0 0
6 5 5 8
| 0 0 0 1
24 23 22 20
| 3 1 1 1
0 0 0 0
26 25 24 22
8 8
1 1 1
625 3,530 58 3512
20 19
A) 1,731,104 (1,681,028) 81147  (89,315)
(B) 1,781,257 (2,000,935) 40050  (48,327)
(A)-(B) 50,153 ( 319,907) 41,097  (40,988)
49,504 ( 80,089) 0 0)
99.8 (98.4) 95  (9.2) 0 0)
97.2 (96.0) 1382 (127.0) 0 0)
56 (4.1) 2504 (200.6) 0 0)
0.2 (16) 530  (515) 0 0)
30 (6.6) 686 (778) 498839  (515,100)
1256 (13.1)
( 41,097  (40,988)




18 19 20

(A) 1,577,172 1,681,028 1,731,104

9,180 14,643 8,394

1,380,685 1,432,221 1,360,456

181,562 219,851 217,288

42,527 119,729 110,764

118,627 89,315 81,147

10,257 0 3,520

(B) 1,742,834 2,000,935 1,781,257

1,740,048 1,968,720 1,778,056

1,740,048 1,968,720 1,778,056

81,609 82,137 100,022

38,786 32,215 3,201

0 0 676

15,410 15714 0

(C)=(A)-(B) 165,662 319,907 50,153

(D) 150,493 239,818 649
(E)

(F)=(D)-(E) 150,493 239,818 649

(G)=(C)+(F) 15,169 80,089 49,504

(H) 35,957 20,788 59,301

()=(G)+(H) 20,788 59,301 108,805

Q) 0 0 0

(K) 313,000 313,000 313,000

(L)=(2)+(K) 313,000 313,000 313,000

(M)=(G)+(J) 15,169 80,089 49,504

(N) 0 0 0

(0)=(M)+(N) 333788 253,699 204,195

18 19 20

3,086,885 2,253,013 1,642,210

75,303 202,072 165,758

516,860 508,932 511,384

313,000 313,000 313,000

300,000 300,000 200,000

201,412 193,064 195,309

58,803 47,715 49,960

2448 2,868 3,075

3,603,745 2,761,945 2,153,594

340,981 1,773472 1,188,035

107,526 1,569,125 932,849

130916 100,963 143,306

2,928,977 734,774 761,364

2,641,444 580,228 545171

58,803 47,715 49,960

3,269,958 2,508,246 1,949,399

313,000 313,000 313,000

20,788 59,301 108,806

195,309 193,064 195,309

333,788 253,699 204,194

3,603,746 2,761,945 2,153,593




